(et wreafies R when (3w § o), WeET 2024
A3 . .
o
0111
9o . - 1
A% : 11:00 T 12:30 HTETH : HUST
(T T 150 TYH WIHT F 0T )

TyAUTeRT ATEfrvaTget U Wiefiel GorT hiesgdes are :

(1) a1 S3utehd A faum emgq. wmehl faum I 7y gem wmwr fawemandt 19 25 9 fawm I 9ed i
foamETdl 26 T 75 378 TRV 75 WA IRA. Fd TA AISAU FEARH TR

(2)  9cIeh JTEIST 2 T SR,

(3) b Arsfavamardt tgw 90 ffteren wemaH foen sEa.

(4) IW AiCiIuaTaETdt TG ITUHRT foeiell T2, T TUTshHTRIEHR IR TRITETd! shATTa aqed foeteft 31mad.
T ST I G ShATh ST aes Jeicl SETavId GRATICATIHII TET.
3G, T . 6 AT S AT G 3. 2 A, T I JEIATHI Fiara.
EENAOL JOIO)

(5) wrefteymTor Figfaerell IW TR R0 JUTR TR, 318 I AGedd o Y I 07 fiet St

IIESIODY

(6) TEAIERhd HATA 20% THT=AT STEdd Scal<al IR FAETIeh! G qaTd 3Tk STdIe. o alal 99 Aigao
TR 3. TTHIS! 1 T Y& HAM I 37eeh uaia e oeft g feaeht o,

(7) ‘3 3k wata Faer’ onft gua fogeen ywreafafed 3o goie Jemdt whe St aderd Higfeiedt
I 9 WIEEIE e Agfaeiel! Ical UMl eRuITd U ATEId.

(8) usher iefeeiell ST YRl sewrdl AU ARG,

(9) v S AT wed e fhar e e difau-=ra aTR Sdr. Ui e Jiefaerelt ek uTe
TROATA IV ATEH.

(10) YeTUbIehad Jcdeh UHTER WTefl  AGeTAT YHTAR e ShiH HIUATHTS! Hished! ST 3712, A9 hed hTH I,

(11) whierm wifed Jo eI TEEa Y 3cal grelell Id T8ead e Ted Tredl. wadl de feas
TfgeaTd e TS J81 Je i,

(12) wETEE YT 2 /I ATCBeATE e qaeieh fohal Tiefl hgdametsh Areamehs foamon &% F3.

(13) wATdiet 3 /< / snamaeas fae wmes fohan urerehit mefdreqonfesprt fohan fremonferenrt areamers oreht
TEITT 7 ITSTdT HEfd M3 A YA AeTe Tgdia redTd.

(14) T /=eh/neTeerds FHeeT AarE dgdi qrafavare gea qlien qRude Gehaeeerat Jaid (dqreqid)
SeatgE Ifeey SeamaEd 10 (<8) feadiwda ude.

(15) Hguien feham 371 SRUMGES Y9 Fehle ST EeATE a1 HHdeT STUIRITHR A1 <ff SHriaTe! Shefl Sse.

(16) o> ATEIHTEIEG SUST WIS Jeafeht feoielt 1R, Hes weammdia |igy Je-memed s o Jgrad.
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fawm - 1
TSt
01. ‘gl =1 el I |Et wig ivrd?
(1) & + 7t 2) @1 + df
3) @I + T 4) & + Tl
: 02. ‘¢ fovum=n Rdt uedh @ v gEOnE! Ude STl JeheR 3TEd.
(B2 q TG IO aTgEned o whiord ?
(1) 2rher (2) UaS
(3) HEARE (4) faomom=n
03. YEiauhl gieart W Hd? (GH Ik T HaSl)
(1) = 2)
(3) s (4) The
04. ‘M TS wEdl. A GEETdE H oA vl ot snesar.
(1) g (2) ¥
(3) gl (4) Gt
05. ‘WA TeAE g fRed’. I 9eRmn = 3o,
(1) b W (2) AHHE T
(3) WHHH Had (4) Ryl
06. ‘ST GBS THGAH! UgEY YR ohel Bid. AT ATRITET ATRIThR TTSET.
(1) &g 2) fou
(3) e (4) el

07. ‘IHhq AT TAdfsehiges hefl Hefl Toh =HchING FTTTSHAIURT  STTHIATAT
Ad’. AT AETET HIS  ANSET.
(1) &1er Y dshles (2) WUl USRS
(3) STl YIS (4) et FaHTEHRS

THeedT HTHTETS! Wokd
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08.

09.

10.

11.

12.

YEictieh! gaqd UUET™ Sivld dfSrses el ?

(1) =i seern foug ‘emfor, @, Steen, foham o1 IWTa= SRl wHidm.

(2) TR UgAT AAIREN A ST R ugitarsl oumas fauga e
ST,

(3) T WM Ieq Ul HS IHHAM.

(4) TR U HEETE! SATANH.

SITIRRER & 9™ =hivrd ?
(1) @t (2) o
(3) Tt (4) weofl

HIU Hid Al Th HOE e
g7 §%d il B g =i TE |

gfaa oo fe@ &1 9r IR o
T asf @t Saa fads

qT B IV FATAT ITRd 7

(1) gerTs=Td (2) aEafderet

(3) et (4) Zgaw

TmrEn W] 7 oS WU ®IvEn IR 7

(1) . =EFE (2) oM Hiaard
(3) HWIh AR (4) . @

‘TANTedr @ TUET iU IR ?

(1) SFad gedt (2) T AR JaR
(3) AEHIRId dTeieAt (4) TSfEH TS

THeedT HTHTETS! Wokd
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9T 13 o 15 |t guATr -
Gleliel  hiddl hideigdesh a9 IE NN marel  foareied T

N c o
I IW I HaE.

et frea qomdl, e fewg Jed
AT @I R AG, Bad q @Y A
T R SRR, fhdiadt @i 3TRd
TIEE! SIEUR, §9 GR BA 3ATed
I AMCAEES], q B NS FYA W
AT G4 YR AR, B q @ AhH
33 MM IEH TIB, TG S e
JAhIe AT, HRIAH TEdd I8
TR A RUE, ST Fed q §g T
AT I X AR, BFd q @Y D™
gmed 3R 'O SR, W Sldld U3Hd ud
uftferdsft fireqm ®rt, g9 8@ w@ I
fas qgm= oA degl WA ded 9 A
AT @I R AE, Bad q @Y AhHE.

g

N\

S
AN

13.  AOEE IR BEAT AT, Y ehiddd {378 7

(1) @eh (2) 3T
(3) uifer (4) o

14. HOadidd JUAHER T FHAET ITATT HIMAS! hUa ¢
(1) @Esrl (2) SfaArEl SRyl
(3) @t (4) s

THeedT HTHTETS! Wokd
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15.

16.

SHiaddiadl JUAHER  faema faam o ?

(1) YA Tiascre adi=n 39 ar.

(2) TEd HWMHER! AUATE <gal g M.
(3) TSIl A STl 3ET STEdrd.
(4) FHHR WA HAHT AW Fd I8,

T 16 @ 18 wTEt gEAT -

Ged AW HIBigaeh aral 9 el MYNG rarell foaieedn Je = 3w
wEE feer

el ke TSt wewid meu= stfamgccarean  Ufdetfies  weT=A

AT A ST A, @ 99 shalfad gehiel d1ed, U7 AUl gF
ILE T AT % d el SN o|d. |et 3T e W FHdan.
fSheheodl Wald S & HUATYl oheil SV A0tk 3Tehal HaccdT=l 3.
fafag = HITUHERN Ihd AT HRAHT HAlc@aw®T 8% Iehd.
TOIER el fovg STV SThedl ITa®d diftieh 3TN HHTNeh WO JH

Bl

ARGl SIRET I ANl UM, d el @I Al WIS
TR M AR ATIcdT Fgull, B Teh AMHce™] FAEEET [O9d & Iehdl.
TofEsE O T S dlel @iHh BE @, T W g

o

dAd Hdd, ® JEET Sl fgedhl 7 e ey foued SR ATEl.
qTfTeholaes TS0 AY ATUMRITE  fosman grmumT 319 SO Eeq
AR, <t T URHen Bl TG @ AT {ed Hediel AREshEal qU

HIAT 7l
AT BRI FHlGAlco@Ea® iUl Hifgd! g 3ehd 7

(1) HICHUET Il HH. (2) OIS WINE @ HHS.

(3) wififes I WIS WOU TESAId.  (4) WINIOSIeh  SATRUT EESTd.

THeedT HTHTETS! Wokd
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17.

18.

19.

20.

21.

AT HATCied]  agaA@Tied’ o1 Yoqral I 37 v ?
(1) TiResfear
(2) T
(3) sz

(4) U

Tid IAIEET 3ET faU™ <hivd ?
(1) e dF S5 SFEdd

(2) TUAgeS iR HeATeAl Aidl Shasdld.
(3) “mftaug’ w7 sifove whie ®e oR.
(4) TUdd Hoet Aof e wEEn sud fasdhl M.

‘FEun’ I e gAEEf wee fdEr:
(1) fa=eht (2) AT
(3) =T (4) =4

e’ I wegrEn fawganedi weg e
() (2) e
(3) "a™ (4) =

NS EETIC o B ORI o C o
(qocta, Sfatere, faqd, e, dfedrss, @, w=3d)

(1) 3= 2) o
3) =W (4) u=

THeedT HTHTETS! Wokd
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22. YEIAUeh JehMT Y ITECIA IR Weqr@l W fHEer:
(T s wE fEer)

(1) WIEE - SIET IFEM AR 3™ FHd.
(2) AdEl" Ut - 3TcUhles d fIRUIR,

(3) Uel wEal - fHEd FHee 9w,

(4) wEA Wi - @9 W Heaed a5,

23. U@ IIhd fooied IEUURE TUR BT AhYEREl 379 Shivd ?

@@
DOC)
@HE®
(1) 3ATEl B9 (2) SaUg B9
(3) fifeaa = (4) TEcarE amen
24. <A1 FdEl IHTSl HIUEAH BIA G A AATE AW TGO YA

IECEF

(1) <ol swoft, TResrd roft,
(2) TEBM@ T, IFETE.
(3) WA= <d Hiel.

(4) 3TYST ANl Tk S, <d <dl qH.

25. YEIduhl T 9l Hu? (W s w9 fEer.)
(1 =3 2 =
G) ¥ 4) 1

~

THeedT HTHTETS! Wokd
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SECTION - II

MATHEMATICS
26. 1+P 1-P] _
o] <[] =
s 1
m P (2) ot
__Pp2
() 1-12 @ =7

27.  Surface area of a sphere is 616 sq.cm. Which of the following is an incorrect
alternative related to the sphere with double the radius of that sphere?

(1) Surface area will be 2464 sq.cm.

(2) Surface area will be 1232 sq.cm.

(3) Surface area will increase by 1848 sq.cm. than first sphere.

(4) Surface area will be four times the surface area of first sphere.

28.  Anjurani weighed an object and noted it’s weight in four different ways as
given below. Which two alternatives from the given, denote the same weight?

(1) 12 kg. 175 deca gm. (2) 13 kg. 75 gm.
(3) 121 hecto gm. 75 deca gm. (4) 135 hecto gm. 250 gm.

29. Side of the adjoining square MNOP is
18 cm. Points ‘X’ and ‘Y’ are the midpoints
of the sides MP and NO respectively. Find
the area of the shaded region.

(1) 324 sq.cm. (2) 162 sq.cm.
(3) 81 sq.cm. (4) 243 sq.cm.

SPACE FOR ROUGH WORK
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26.

27.

28.

29.

fawm - 1
fora
0] x [Fp7] - el
1 B @ L+
@ 1-4 @ =F

TH T Teha 616 =EHL @, e gWe B smumr=n gE=n
MAT=a Tsohaeedal 3 T @efiadshl  shiord ?

(1) Uso%ed 2464 <ol .

(2) Uso%es 1232 =.Edi. .

(3) dfged TMem=AT qod JSehes 1848 wLEHL. H ded.

(4) dfgedn A=Al TohS=Al gadd dae .

AN TH TEH I HEA d IR THR Giefd qEEd fafze. crde
EA 1 e B B 1 1 o G IS e =t M 4

(1) 12 f&x. 175 St 7. () 13 f&d. 75 #

(3) 121 & *. 75 T U (4) 135 g&r ¥. 250 7.

ieaear 9RE MNOP =t a9 18 &, 3.
fag X’ offor Y’ ® STgHH A MP 30T NO
o weAlog IEdlel; T {@ilhd WRTE &=hes fehdl
9o, I ?

(1) 324 2) 162

(3) 81 4) 243

THeedT HTHTETS! Wokd
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30.

31.

32.

33.

34.

[(16xy+4y2+16x2) LGyt
(1632 — 4?) " (4x—=2y)
1 1 2 O
(3) 2y + 4x @) 4 -2y

A square shaped compound of a temple has side 40m. On each side of the
compound, triangular gardens of side equal to that of the side of the compound
are there. What will be the total cost of 5 rounds of wire fencing for protection
from their outer edges only, for all the gardens, at the rate of Rs. 80 per m
of wire?

(1) X 256000 (2) X 160000

(3) < 512000 (4) X 128000

Rs. 9700 are invested in the bank with simple interest at the rate of 5 p.c.p.a.
To get the same amount that will be received in 4 years in 25 years only,
by how much should the rate of interest needs to be increased?

(1) 8% 2) 5%

3) 3% @ 2.5%

If (x=y)2 =49 and (x+y)? = 169 then find (4xy) = ?
(1) 30 (2) 60
(3) 90 (4) 120

All the vertices of a triangle are on the circumference of the circle at equal
distances from each other and at a distance of 14 cm. from the centre of the
circle. What will be the length of the median of that triangle?

(1) 7 cm. (2) 14 cm.

3) 21 cm. (4) 28 cm.

SPACE FOR ROUGH WORK
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30.

31.

32.

33.

34.

[(16xy+4y2+16x2) L[@+40]_ s,
(16x2 — 49 (4x—2y)
(H 1 2) 0
3) 2y + 4x 4) 4x - 2y

Tl HiCU=Al AREThd! qRETET @S 40 WL SR, N Y% SNerd ol
INEAehE HAE 9 FEUTAT  HRUMhd! SFT ITRd. oAl STeleAl e
T fiefaEdl = gl HUu wuEen aner ufd der 80 ®.  Ammml
TR T TRl w9 I ?

(1) 256000 2) 160000

(3) 512000 4) 128000

WSS JegdH TALEW. 5 H 9700 FUARN qaUh hodlH Shehgd R
Iy el TehH Wd iesd; faasdha wehd 2% auid Wa THvamEE =S
W fordH IeEer gaT?

(1) 8% 2) 5%

3) 3% 4) 2.5%

(x—y)? = 49 3 (x+y)? = 169 3WA; W (4xy) = Tohell?
(1) 30 (2) 60
(3) 90 4) 120

H B @ RAifog ade aREmet WERdEE g9 SHaUet 3T, e
T4 hgEd UAh! A 14 TH. AR, AEEA @1 Grepom=h geamm fomdt
oft. Id?

(1 7 (2) 14

(3) 21 4) 28

THeedT HTHTETS! Wokd
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3S.

36.

37.

38.

39.

Which of the two alternative expressions from the given are perfect squares?
1) (¥ -2 + x7?) (2) (4m? — 16n% — 16)
(3) (25p% + 369 — 30pq) (4) (64ab + 64a% + 16b?)

What will be the eighth odd number after the even number (3x — 5) ?

(1) (GBx - 22) 2) (GBx - 13)

(3) (3x + 10) 4 (@Bx +3)

While selling an article, if Raghav increased its selling price by Rs. 384 he

will have 5% profit instead of 3% loss. What should be the original price of
the article?

(1) X 19200 (2) X 12800
(3) X 7680 (4) X 4800
Two triangles are formed by diagonal BD A

of kite ABCD as shown in the figure.
Which test from the following is not

applicable for proving these two triangles B E N D
congruent?

(1) S-A-S

(2) S-S-S ¢

3) A-S-A

(4) Hypotenuse-side

Rafig has Rs. 28,500 with him in the form of some I 2000 notes and some
% 500 notes only. Which of the following could be the number of ¥ 500 notes?

(1) 57 (2) 25
(3) 23 4 11

SPACE FOR ROUGH WORK
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3S.

36.

37.

38.

39.

GTeAcdehl I g T it quf o ofrga v
() (X2 -2+x? (2) (4m? - 16n? — 16)
(3) (25p% + 364 — 30pq) (4) (64ab + 64a% + 16b?)

(3x — 5) AT T EFEAM HAW N Aedt fowm wenm s ?
(1) Gx - 22) 2) Gx - 13)
3) (@Bx + 10) 4 (Bx +3)

TgeH Wb a%q foepar fosht fopma 384 ®9am amefaeht o, @ 3% dler
BIUATUEST 5% A% STl Tl AEEA aeqel HB3 fhHd fohd! ®0F 37

(1) 19200 2) 12800
(3) 7680 (4) 4800
grea=a  [JABCD 31 gawmehat=n A

F0 BD Heb TUR BUIR GH Hrepior
Grefldl 9Tl hiven S

THEY A TN ? B B[ P
(1) wT-shi-=

(2) ST-s-a C

(3) HI-sM-hl

(4) oi-ygeT

hersaes 28,500 ®UI IMEd. ATANHS hlgl aFd B AT kel urersl
Y, WM 9T TH=AT Ale] JHA; Y= ®9F=AT AR e el
Tk fohct ST ITehal ?

(1) 57 2) 25

3) 23 @) 11

THeedT HTHTETS! Wokd
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40.

41.

42.

43.

44.

If l—fzg then ‘k> = ?
1y o @ Ji6
3) 16 4 9

Area of the square hall with height 4 m. is 49 sq.m. What will be the total
cost (in rupees) of colouring all the walls of that hall at the rate of Rs. 300

per sq.m.?
(1) 11200 (2) 74000
(3) 33600 (4) 42000

In a transaction, if the selling price is four times the loss, then what is the

percentage loss to the seller?

(1) 20 (2) 25

3) 125 @ 1%

The conical tent with height 21 m. has base circumference 176 m. How much
air (in cubic m.) can be contained in that tent?

(1) 17248 (2) 2464
(3) 7840 (4) 15680

How many shares of Rs. 500 each, did Pari purchased, if she spends Rs. 46350

with 3% commission?
(1) 95 (2) 90
(3) 81 4) 87

SPACE FOR ROUGH WORK
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40.

41.

42.

43.

44.

Sl =4 ;@ K - fd?
(1 9 @) 16
3) 16 4 9

IR X I ITECICAT Thl ANETRd] Bie &A% 49 WL TR, w1 giere
Td fadiar @ quamendt ufa =i, 300 ® Iwmmr fhdt €9 @™ IgA?

(1) 11200 (2) 74000

(3) 33600 (4) 42000

diear=an wige foshl fhma omciean Saagriqd foshearenm sieien wr.drer fohdi?
(1) 20 (2) 25

(3) 12.5 @ 1%

Uk WEEThdl 9=t I 21, oFE, dern wWw 176W. iR, @ fwehmn
dea fordt wmHier gar wE@?

(1) 17248 (2) 2464
(3) 7840 (4) 15680

Thl 500 ®. Tradi wetd @ HaMT 90al 3% cadiEs 46350 ®9
TE Al IWA; R fad fordl 3o Wi sl @A ?

(1) 95 (2) 90
(3) 81 4) 87

THeedT HTHTETS! Wokd
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45.

46.

47.

48.

49.

A side of a square is congruent to the 30 cm. diagonal of second square. Select
an incorrect alternative from the given, for the relation between the areas of
two squares.

(1) Areas of both the squares are not equal.

(2) Area of the second square is half that of the first square.

(3) Area of the first square is more by 900 sq.m. than the other square.

(4) Area of the second square is less by 450 sq.m. than the area of the first

square.
In the adjoining circle with centre C, P
m/PRS = 55° ; then m/PSQ = ?
(1) 55°
(2) 40°
(3) 45°

An obtuse angle is formed between the hour hand and minute hand of a clock.
Which two alternatives from the following will correctly represent the possible time?
(1) 1:20 hrs. (2) 11:40 hrs.
(3) 4:05 hrs. (4) 8:55 hrs.

Ratio of the lengths of the diagonals of a 20 cm. sided rhombus is 3:4. What
will be the area in sq.cm. of that rhombus?

(1) 768 (2) 384

(3) 192 4) 96

After reading 3 part and 68 pages of a book, 92 pages are still remaining.
What is the total number of pages of that book?
(1) 360 (2) 280
(3) 153 4) 117

SPACE FOR ROUGH WORK
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4S.

46.

47.

48.

49.

T ARG 9 B gHSN SRETeAT 30 HHI. HIOTRAT HUMR THEY IR, @
M TRl ARETAT ATRSEEdd A AU @ielid 9Fiaeh Shivid ?

(1) Tl dNEr &9%he THE AR,

(2) TEAT AREE &% Ulgedl SNEMAl SRSl FHUS 3.

(3) Ufgew =A™ &A%k gE=Awam 900 WEH. I e IR

(4) TEA GREE &% Uigedman 450 A 4w o,

Hisa=l hgfelg ‘C’ AT TG, P
m/PRS = 55° 3@A; W msPSQ = Tohdi? Q

(1) 55°

(2) 40°

(3) 45° R S
(4) 35°

SIS diesiel o el I=aa fawmeaesa gidr; il do  eifaum
T T Grefterdehl v ?

(1) 1:20 =. ) 11:40 =

(3) 4:05 4. 4) 8:55 .

20 T, SN AGcied] FUYS dArhHTeAl HUTA W™ UK 3:4 3.
T GlHE &%k fohdl @A IEA?

(1) 768 Q) 384

3) 192 4) 96

TH GEGHET 5 W 9 68 UM Mg WA 92 YW SW STEdie; W el

Q&I THUT fohcl O 37TRd ?
(1) 360 2) 280
3) 153 @) 117

THeedT HTHTETS! Wokd
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Q.50 and 51 Directions :

In a school, there are 50 students on roll in each of Std. V to Std. VIIL
Below given joint bar diagram is representing attendance of the students
Standardwise. Observe the graph and answer the questions.

[ B

Scale : on Y -axis
1 cm. =2 boys / girls

Y-axis |

Boys Girls

SR

N5
o DN A D

— N N

,,,,,,,,,,

—_—

—_—

:
—_—

NS e Niillo o i« o i \ S JEN i e )

Presentee (attendance)

UL

A
\

X1S

S

NA
s
1

o

Fifth = | Sixth | Seventh |Eighth
N : Standard

Y

SPACE FOR ROUGH WORK
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50.

51.

52.

53.

54.

By what percentage the present girl’s attendance is more than the present boy’s

attendance?
(1) 10 2) 2
(3) 20 4) 2.5

By considering attendance of both boy’s and girl’s, which standard has the
least attendance?

(1) Eighth (2) Seventh
(3) Fifth (4) Sixth

If 25% of 780 = M% of 1950 then ‘M’ = ?
(1) 10 2) 12
(3) 8 4) 14

If L.C.M. of two consecutive even numbers is 312, then what will be the sum
of these two numbers?

(1) 48 (2) 46

(3) 52 4) 50

All points shown on the given number-line are at equal distances.

I(UR) — KQT) = ?
P Q R S T U
< } } _I; } } } } } } } } } } 1! } } >
8
(1) IRS) (2) ITU)
(3) IQR) (4) 1(SQ)

SPACE FOR ROUGH WORK
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50.

51.

52.

53.

54.

IO TSI e garden 3Ufedd gofl Wkl fohddiM Sied omga ?
(1) 10 Q) 2
(3) 20 4) 2.5

ol MM geit fifesd IufErd! difgedmd hivredl saxdial Ut |aid il 3T 7
(1) e (2) g
(3) et (4) @t

780 I 25% = 1950 @ M% 3Wd; @ ‘M’ = fhdi?
(1) 10 2) 12
3) 8 4) 14

9 HHIR TR eyl A.ELf. 312 sWmd; @ oo e ofw feRdi?
(1) 48 (2) 46
(3) 52 4) 50

Hledeal TANvald da foig HHM AU IMed.  cAEET
I(UR) — [(QT) = Toret?

P Q R S T U
<+ - l — 1 >
8
(1) IRS) (2) ITU)
() UQR) (4) 1SQ)

THeedT HTHTETS! Wokd
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5S.

Five years ago, mother’s age was twice her daughter’s age. If the ratio of

their present ages is 11:6, then what will be the difference in their ages

(in years) five years hence.

(1) 20 (2) 25
(3) 30 4) 35
56. Ifa+b =13 and ab = 36 then a? + b2 = ?
(1) 169 (2) 81
3) 97 4) 16
57. Which of the two options given below are incorrect statements?
(1) All integers are not real numbers.
(2) Some rational numbers are integers.
(3) All rational numbers are integers.
(4) Some integers are not whole numbers.
58.  Following table shows the subjectwise marks scored by a student in a summative
test. Find the average marks.
Subjects | Marathi Hindi Maths Science | Social Science
Marks 32 36 48 44 40
(1) 40 (2) 38
(3) 42 4) 36
SPACE FOR ROUGH WORK
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55. U@ oWl ITEE o ool dATAl G BId. ATeAl STSAl adTe UK
11:6 3T8A; W AVRE U a¥Hd H=AT 9AEIA Bleh fehdl oY ITEA?

(1) 20 (2) 25
(3) 30 4) 35

56. a+ b= 13 M ab = 36 3IMA; W a2 + b2 = fdl?
(1) 169 (2) 81 B

3) 97 4) 16

57. WUl BT GH WG SR faue 3Ed
(1) &€ QUi T&IT Irdd T 8.
(2) Rl UNHT T Ui @A SIHdN.
(3) Wd UiHT T Uit @A AN,
(4) Rl Ui eI QU @ F9dd.

58. U fogEeaien dwfca wmvia fiere fowafem o acla o o
JMed. < HEIHH el

IELE] R R Al TTforg fosm= | I

i 32 36 48 44 40
(1) 40 (2) 38
(3) 42 4) 36

THeedT HTHTETS! Wokd
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59.

60.

61.

62.

63.

In the adjoining figure, P S
: J : © /A R\ /7' B\
line AB || line CD and < g >

mZRGC = 50°, then find

mZSFA — m/ZPEA = 7?

1) 50° 2) 80°

3) 100° @) 130° c g 0 Do

4b - 2a+5-3b-9+5a—4+3b-2a=2?
(1) 4b + 92 — 4 (2) 2a + 4b — 8
(3) a—4b -8 4) a+4b — 8

What will be the difference in rupees in the simple interest and the compound
interest earned on Rs. 5000 in 2 years at the rate 5 p.c.p.a.?

(1) 125 2) 25

(3) 375 4) 50

Average weight of Siya and Nisha is 29 kg. Average weight of Fiza and Siya
is 26 kg. If the total weight of Nisha and Fiza is 50 kg., what will be the
maximum weight (in kg.) amongst the three girls?

(1) 25 (2) 28

(3) 30 (4) 34

A work is completed by some workers in a few days. If the number of workers
is made %rd times the original number of workers, then how many times will be

the days required to be increased than the original to complete the same work?
1
2) 15

@ 3

(1)
€)

SN S)

SPACE FOR ROUGH WORK
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59.

60.

61.

62.

63.

Hied=a1 pdid M AB || W CD A A

T m/RGC = 50° 3®d; @ < 2
m/SFA — m/PEA = f&dl?

(1) 50° (2) 80° 6

(3) 100° (4) 130°

4b —2a +5-3b -9 + 5a — 4 + 3b — 2a = feRdl?
(1) 4b + 9a — 4 (2) 2a + 4b — 8
(3) a— 4b — 8 (4) a+ 4b — 8

THLEY. 5 e 5000 AN 2 ON" WG 9 Jshdlesdrs Iid fehdl
T Bk JAHAY

(1) 12.5 @) 25

(3) 37.5 4) 50

e g e o= @ 9w 29 fRd. smR. T enfur R a=m Wl
ged 26 TR, omg. X fem omfor fen o= wRw awH S0 TR, SEW; W
foefieh gaifees ool oo fomdt fordl. 3@« ?

1) 25 @) 28

(3) 30 4) 34

ﬁé@w%wﬁmﬁ;m%ﬁ@@w%qﬁw

@ 1%

@ 5

(1
3)

EN[IES] )

THeedT HTHTETS! Wokd
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64. Length of the longest chord of a circle is 7 m. What will be the length of
the parallel chord to it, at a distance of 2.1 m. ?

(1) 2.8 m. (2) 5.6 m.
(3) 42 m. 4) 3.5 m.

65. If 163 = V4% : then k = ?
(1) 1 (2) o6
(3) 12 “4) 17

66. In the adjoining figure, LIEFGH is a rhombus
with diagonal 28cm. and vertices are on the
circle with centre ‘O’. Find the area of the
shaded region. o
(1) 56 sq.cm. (2) 112 sq.cm.
(3) 105 sq.cm. (4) 210 sq.cm.

67. Which of the following two alternatives are perfect cube numbers?
(1) 0.0270 (2) (—0.000625)
(3) (-13.310) (4) 0.0729

68. By how much is the greatest of the following numbers is greater than the

smallest of the given numbers. %, lj,%, g ,%
5 1

o 3 @ 30
2 1

3 15 S

SPACE FOR ROUGH WORK
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64.

65.

66.

67.

68.

U dgesTedl Faid Higwl Siadl et 7 Hl. AR W AN aged faeamnm
2.1 . IAUER U FHIGR Siael @l fhdl i sme?

(1 2.8 (2) 5.6
(3) 4.2 4) 3.5

W 163 = V4% I@e; W k= fRdA?

(M 1 2) 6
3) 12 4) 17

Hea=al Thdrdid (JEFGH a1 §8YSl <o

T R e e {
TN TGS ATed. ATEA TIceiedT WA= o

ahes fobcl =t.@fl, s@w?

1) 56 @) 112

(3) 105 @) 210 H G

Geaushl BT F WA @@ U B9 §Ea 3TEd ¢
(1) 0.0270 ) (-0.000625)
3) (-13.310) 4) 0.0729

%17%’% El % Il Hald WIS @A & Gdid agH weven  fohdia

o R ?
1

M @ 4
®) 15 @ %

THeedT HTHTETS! Wokd
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69. ‘Diagonals of the are perpendicular bisectors of each other.’

Choose the correct alternative from given options to complete the above statement.
(A) Rectangle

(B) Square

(C) Rhombus

(D) Parallelogram

N
74

% (E) Kite
i (1) Only A and B (2) Only B and C
(3) Only B, C and E (4) Only A, B and E

70. Observe the two planes X and Y shown in the
diagram and select ‘two correct’ statements from
given.

(1) Points F, B and C are belonging to
different planes.

(2) A line is formed where two planes intersect.

(3) Point A, G and E are non-collinear points

lying in the same plane.

(4) Two planes are parallel to each other. v

71. Spandan purchased two articles each for Rs. 3750 when 8% discount was
declared. How many rupees should he pay to the seller for this purchase?

(1) 7200 (2) 3450
(3) 6900 (4) 8100

SPACE FOR ROUGH WORK

0111-Marathi Set-A 28 of 32 Contd...



69. . 9 GFEl HU QEET HIEHE GHEAM. B fou™ qU SHoTETd]
reicidehl I el fas .

(A) HICHH =l

(B) =™

(C) wWYs =rhA

(D) TUTRYS b

(E) Wt

(1) ®Fa ‘A’ emfor ‘B’ (2) wsa B’ smfr ‘C’
(3) waa ‘B’ ‘C’ emfur ‘B (4) wEa ‘A’ ‘B’ emfur ‘B’

70.  GEd=ar X0 M Y’ I el dare Few wed
@Fﬁaﬁ%ﬁaﬁmﬁaﬂﬁ‘mmsﬁm.
(1)1%@ B’ s ‘C’ ¥ f99 yaad@ fog

(2) Tl o @qmq Y W TR Fd.

3) fag ‘A, ‘G’ 31 ‘B’ ¥ ThE Yqddled Ao
foig 341%3.

(4) TRl Jaod Tl wHial ST v \p

71. IS TFH g MR FoAMS We TAh! 3750 €. fepAdi=an §F 9% @l
hedl ITdA; W AW foshearen foadi ®99 @mEa?

(1) 7200 (2) 3450
(3) 6900 (4) 8100

THeedT HTHTETS! Wokd
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72.

73.

74.

7S.

In the adjoining figure of AEFG, E
point H is the mid-point of the seg FG.
If mZEFH = 45° and

I(EF) = (EG) = 10y2 cm.,

then /(EH) = ? cm.

45°
(1) 10y2 (2) 10 F H G

(3) 20 4) 2042

[(m +9) (m = 5)] - [(m - 8§ (m + 4] =7?
(1) (8m — 13) (2) (m -3
(3) (m - 4 (4) (m +77)

Height of the trapezium PQRS
shown in the adjoining figure P . S

is 8 cm. seg ST = seg PS and
I(PQ) = I(SR) = 17cm.

Then find the perimeter of \/\C’& 8 cm. +

LIPQRS in cm.

(1) 80 2) 96 Q T R
(3) 388 4) 72

What is the compound interest (in rupees) for Rs. 10000 for two years six
months, at the rate of 10 p.c.p.a.?

(1) 2650 (2) 3310
(3) 2500 (4) 2705

SPACE FOR ROUGH WORK
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72.

73.

74.

7S.

gied=al 3Tehdid AEFG Hed, B
fig ‘W’ &1 W@ FG =1 weAfdq .
S msEFH = 45° 3ot

I(EF) = I(EG) = 10y/2 @, 3@,
@ [(EH) = Tt oft. ?

45°
(1) 1042 @) 10 F H G
3) 20 4) 202
[(m + 9) (m — 5)] — [(m — 8) (m + 4)] = foret ?
(1) (8m — 13) (2) (m - 5)
(3) (m — 4y 4) (m+ 77)
qiea=al THed =t PQRS =
I 8 Bt IR, P , S
W@ ST = W@ PS aAfur
[(PQ) = I(SR) = 17 T}, 18A; N g o L
@ [JPQRS =it ufifaet fomeht Q
ofl, e ?
(1) 80 2) 9 Q ! R
(3) 88 4) 72

TEE. 10 e 10000 TR 2 9N 6 ARG dshdle oA fohd] ®UY ITEA?
(1) 2650 (2) 3310
(3) 2500 (4) 2705

THeedT HTHTETS! Wokd
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